PR R SR DRAARS N D il Sl 4%

Fe| X LHEDER HDEmml |V | R || meas| s
1| PEIEX 4 DAERE AN PAE 1 W | & 88 HEN AR
2 | FHIEX AL BAE B BSh BA=E 1 Wi | % 84.6  [HEAfKE:
3 | FHIEX AR PAERE HEENTDAE 1 T % 85.8  |#EAfKES
4 | PEIEX G AR BHis PAE 1 U E'a 86.2  [HEAtKE:
5 | RIE A P AR P HESEAY A A 1 Wit % 89.4  |#EAfKES
6 | RIE | KARDARPSM| RO TAES 1 T 5 84.2 |tk
7| RIWE i rpts TLAERE PUREA TAE = 1 XA |5 81.6 [Nt
8 | RINE B DA B BRI A= 1 HEE | & 85.6  [HEAfKE:
9 | K& Bt AR B PR DA 1 Csi 7 83.6 [Nt
10 | PR A )1 0 TUAE B A BARE 1 I | L 88.2  |#EAfkEY
11| PR O T AR A AR 1 POE | & 82.2 |
12 | BRI A )1 0 TUAE B FE A BAEE 1 wElL | & 89.2  |#EAfkEY
13 | PRk i AR INAYEAT TR 1 B % 89 K
14 | KA 20 TR ZEMNPAE 1 s | &« 84.6  |EAfKEY
15 | RIE ) PABE TR DA = 1 WEH % 83 HE RS
16 | RIE | KARDARP S| FENIEA=R 1 XIfenxi 5 86.6 |tk
17 | RIE N BT RFE T PAE 1 KEE | & 87 HE RS
18 | #H& J\EkZ DA HE R PAE 1 HeBe | S 80.6 |tk
19 | ®& i3 2 TAERE WA TR = 1 e | & 87 HE RS
20 | HE /NFEE & TAERE ANFEVAA AR 1 S | & 87 HEA AR
21 | & )N B P AR EEA P A 1 i % 80.8  |#EAfkES
22 | & Wk 2 BAR HEMN AR 1 g S 84.4 |tk
23 | #& FEHH O AR BRI AR 1 HiH % 82.8  |#EAfKES
24 | & B0 BARE Jit XM T A % 1 XIS 5 88.2  |#EAfki
25 | & AREE TR FILEA A== 1 L | & 86.6 |k
26 | HE T P AR dEMNPAE 1 KA S 85.6 |k
27 | W& KRR T AR FEFYEA TAEE 1 REE | B 82.8 [Nt
28 | & B0 ARG Ry A= 1 W2 s 83.4  |#EAfkEY
29 | & BB T AR B TRHEEA A= 1 fARK | & 82 HE KR
30 | HE Kith & AR KREGHPAE 1 Sl7a 7 85.6 |k
31 | & P O AR TRAIEN T A 1 XA % 88.2 |k
32 | & BB P g PAEsE | 1 | e | B | 816 [wurn
33 | W& /NFEVE 2 AR YA P A 1 s | % 86.2 [Nt
34 | #HE Kith £ PABE BN PAE 1 XD S 89.8 |kt
35 | i oo 0 TUAE B BEER TR 1 i | 5 85.8  [HEAfRE
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36 | HibE oo 0 TUAE B REM T 1 2t % 82.2 |
37 | R E Tl B A e Lo A= 1 XM 5 84.8  |#AfkE
38 | b W T AR FERH BA= 1 RCH | % 86.2 [Nt
39 | i TNl 2 DA SR A AR 1 T | & 87.4  [HEAtKE:
40 | b E HYiwE 2 AR BN AR 1 RN % 84.4  |HEAfRES
41 | 2 PR P A B e TR 1 WEE | & 88.6  [HEAfKE:
42 | it B FHF 2 AR YA DA 1 Hi DL % 87.4  |#EAfkES
43 | A W P AR Wy A DA 1 A CLE S 88.4  |#EAfkEY
44 | i E Tl 2 BAEBL BT A DA 1 SN | & 86 HE RS
45 | 2 FEES TR LI REY NG e 1 B | & 81.6  [HEAfKE:
46 | b E W T AR SEDUR TR = 1 F1H % 86.6 |k
47 | A i o H0 TUAEBE M EA AR 1 o R s 83.8  |#EAfkEY
48 | it W2 PA Bt M& G A 1 Kbt | L« 89 HEN AR
49 | it 2 WIE R P A B JEVEAT A= 1 BE 5 86 HEA AR
50 | b P 0 TUAE B FORVEA DA 1 2= % 90.2  |#EAfRES
51 | i Teinl 2 DA B Bl PA = 1 T | B 90 HEA A
52 | b FHT 2 AR X FBERT TAE = 1 5 % 85.6 |k
53 | it W2 T AR TWEMNPAE 1 b i S 91.4  |#EAtRE
54 | b g P A B FAVE A TR 1 FEE | & 87.2 [Nt
55 | it i SR 0 B AERE JE A A= 1 TR % 82.2  |#EAfKEY
56 | HibE W 2 TR sk A A AR 1 Pix % 83.6 |k
57 | it JUH O TUAE B A A BAEE 1 AR s 84.4  |HEAtKE
58 | b Wiz 2 TR BT LA TR 1 X | & 84.6  |HEAfKES
59 | it T2 PARE BN PAE 1 FEA 5’8 81 K
60 | AKE PR T AE B JE VR A B 1 BEH | & 83 HE RS
61 | AKE K HBE P AR ALY DA 1 Il | & 84.2  |HEANREY
62 | IETE =% DA IR AR 1 REE | & 81.8  |#EAfkiS
63 | IETE | FUYEE 2 TAER PERRA A= 1 KEE | & 84.2  [HEAtKE:
64 | HEE Jo YR T AR B BATHEN PAEE 1 kBEIL | B 87 HE KR
65 | HIEE =L BAERE EEAT N AR 1 MR 5 82.4 |tk
66 | HlEE IR EH TLAE B AT E TAE = 1 5K F] '8 88.6 [Nk
67 | HEE g 2 PA: B EVAAT BN AR 1 kiaE | % 86.8  |HEAfKER
68 | HUE A Jiih % BAR TARGERN LR || mtin | & | sa2 sk
69 | s A ETERER P SEEM AR | 1 | sk | & | sas  |mame
70 | #UEE S bR bi BEAATEN AR |1 s | & | 928 [k
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Fe| X LHEDER HDEmml |V | R || meas| s
71 | BURS BRIRERET BAFEMEAEE | 1 | weeE | & | sz msw
72 | HEE Jo YR T A B MEATEN A 1 A % 86.8  |#EAfKEY
73 | HEE JH R P AR INFATEUN A= 1 e % 82.6 |tk
74 | HEE A0 AR AREEATEN A= 1 LS¥in 5 92.2 |
75 | HEE PSR O AR L EEATEN AR 1 HiEE | 5 81.8  |#EAfkiS
76 | HEA SR A AR FEIATEON A= 1 Mok % 82.2  |HAKK
77| EEE AL AR B BTN PAE 1 kER | 5 87.2  |#EAfkES
78 | HEEA il 2 DA PUAAT BN A= 1 FiE 7 85 AR
79 | HEE File BAERE VB AT BN A2 1 o SAR/ ] % 81.4  |#EAfkiS
80 | HUE A BERER SRABMEAET | 1 | Bk | 4| s22  |wase
81 | HisE BRIRERET SEMAEN EAEE | 1 | wew | & | ss2 |mamw
82 | HUFE BERER WITEN PAE | 1 | e | B | se2  [mamkk
83 | WL A0 T AR Y5 FAT BN AR = 1 wEE | B 84.2  |HENfRES
84 | i E SR A AR TEATEN A 1 TR 7 83.2  |HAKK
85 | HJHRE PSR O AR WABAT BN T A= 1 Tk % 84 HE RS
86 | #ilE = AR HIRATEN A= 1 fr AR 7 88.2  |HAKK
87 | WL KPP AR SEFEATEUN A= 1 XIHEHE S 87.8  |#Afhk
88 | HIEE TR T A e S IRATHUN PAE 1 RT5T5 7 83.4 |tk
89 | HFE IR A AR FARAT BN A= 1 IR S 80.2  [HEAfKEE
90 | BiEE =L TR KIFAT BN A= 1 IR S 82.8 |k
91 | HEE R T AR MINEAT BOR T AR 2 1 X8 & 5 87.2 |k
92 | R A ETERER P FIETRN TEE |1 vt | % | se.s [k
93 | HEE Jo Y T AR B ERUATEON A= 1 TR | F 84.8  |HEAfKES
94 | HIEE I 945 B T A e HATEN A= 1 LW % 91.4  [#AfkE
95 | HIEE A0 T AR XISEAT BN A= 1 X | L 90.2  |#EAfRES
96 | BiEE A AR B R AT BN LA = 1 28 % 84 HENARS
97 | HIEE s AR HRRATEON A= 1 XI/NF S 82.8  |HEAMKK
98 | TE JUUR T A= e JIEVR BA i 1 S S 83.4  [HEAMRAR
99 | TH M PA R % NN AR 1 IS i % 86.6 |k
100 T& HEPAERE HAR PAEFT 1 IRiE 5’8 81 K
101 7& WSRO AR /NS A B 1 M | 81 HE RS




